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CE304 BRI Tl ilivararesions

2020
SURVEYING-II

Fruffa aug . fimwe) [3tfrepam 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70
e (i) TR I A 8, 9 F G 5w o’ & I G |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) % F¥ F T Y71 F FHIR 0F G FF B |
Solve all parts of a question consecutively together.
(iii) 9% F¥7 F1 79 §8 & GREY F7 |
Start each question on fresh page.
(iv) &1 YT9T371 § 37 81 #1 17 § 301 7are & 5= & |
Only English version is valid in case of difference in both the languages.

. (1) FfeEddsnaissEade ?
(a) IE T BT HY FEATUT & F FHETL BT I8 |
(b) wrfEn aa &1 wg &fes 3@ & FHER B4 =10 |
(c) Ufeeye e 1 3 FUT T & rETq B A1 |
(d) TYUH W@ W 9 1 AW & ohEad g1 =918 |

Which one of the following statements is correct ?
(a) The axis of plate level should be parallel to the vertical axis.
(b) The axis of striding level must be parallel to the horizontal axis.

(¢) The axis of the altitude level must be perpendicular to the line of
collimation.

(d) The line of collimation must be perpendicular to the plate level axis.

2) FedasRa e Rt frmamm ¢

(a) FEATHR T3 o (b) T gaEw

(c) Trarefes gdem (d) e adao

Which one of the following is carried out by two theodolite method ?
(a) Circular curve ranging (b) Tacheometric survey

(¢) Geodetic survey (d) Trigonometric survey

(10f12) P.T.O.
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(3) gifr Rrreiemse 4 affad % sehga i Jf i faeifia s0 % o e o
3 &
(a) G afad (b) @M gl gEET UE Tt gaE
(c) Tl uE sl Hers SEv (d) TEa e & faft wm
In a transit theodolite, error due to eccentricity of verniers is eliminated by
reading
(a) both verniers
(b) both right swing and left swing
(c) right and left faces observation
(d) different parts of main scale

(4) PrarEreme #1 9 vy g 2
(a) e <ie % snfea g 1 =@
(b) FHu wie & Hnfra g H1 A
(c) Premmse #i durd
(d) TR i e
The size of a theodolite is defined by
(a) the diameter of the graduated circle of lower plate.
(b) the diameter of the graduated circle of upper plate.
(c) the height of the theodolite.
td) the length of the telescope.
(5) o ! @fest a1 & wrw Seatut aet § 180° T gAH Y wFa HEend
(a) gifRafen (b) U 1 g
(c) UvETEESA (d) wTERE
The operation consisting of revolving the telescope through 180° in a vertical
plane about its horizontal axis is called
(a) transiting (b) swinging of telescope
(c) backsighting (d) traversing
(6) == &1 e e s gewar 2
(a) HFTT & qH-FHIhEA gRI
(b) 1 F gHwIHE g
(c) A1 v figya & [wHEd gr
(d) HEHETEAE
Removal of parallax may be achieved by
(a) refocussing the objective
(b) refocussing the eyepiece
(c) - refocussing the eyepiece and the objective
(d) moving the shifting centre

—
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(7) Trreiese & a1 woteh Td g Bereh & JE0T 8 37 T IR 8l At qfe R
(a) 45" (b) 1'30”
() ¥ d o

(®)

(&)

The difference between face left and face right observation of a theodolite is 3'.
The error is

(a) 45" (b) 130
() ¥ d o

ot wgi &1 =T = B

1. ILUTdED & mEr

2. eV TE Y H g9

3. fesmm &t o

4. I BT HI TOET

5. waaa fagwmet i mum

e &1 ATAR@ Y] Goft 31 AT H ITIe 951 BT T FAE |
(@ 3,4,5,2,1 (b) 4,3,1,2,5
© 2,1,3,4,5 @ 4,3,521

Consider the following steps :

1.  Calculation of ZL and ZD

Correction of latitudes and departures

Calculation of bearings

Calculation of interior angles

Calculation of independent co-ordinates

The correct sequence of these steps in Gale’s traverse table calculation is
@) %4521 (b) 4,3,1,2,5

- 21,348 d 4,3,521

U | ovard i v # @i vd Hivfg A # 1 e o, W, ? | 9t g %
FTHT ARG § FHIASH 2 |

1 ' 1
“V}’cz“'\ﬁ (b) c,ocxﬁ,czoc;ﬁ

Do

1 1
cloc-\[!_,czoc\fl (d) cloc$,czoc$

The error in linear and angular measurements for a line of length / are
respectively ¢, and c,. The Bowditch’s principle of adjusting a traverse

corresponds to

x\%,czzx\ﬁ ®) ¢ =l czocT
(c) cloc\ﬁ_,czoc\ﬁ d ¢ \[I y Cy X \[—

P.T.O.
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(10) T @1 & 3187791 ! qReia faan sman 8

(a) E-W @1 W q3& {1 % e oia gay

(b). H&TT @ H He HEATE W@ W AGHIIG GaT

(c) Taftr= sifra/Fran & weitem & wvarq geifia ade e 6 o
(d) I § A I TE

Latitude of a line is defined as

(a) Orthographic projection of a survey line on the E-W line

(b)  Orthographic projection of a survey line on the reference meridian
(c) Length of survey line corrected for various chain/tape corrections.

(d) None of the above

(11) TF AEREY § n §&1 & Goh & Falh UdiEemse qemaEn iomed @), @

AT S 1 0 B TR
(@) (2n-4)x90° (b) (2n+4)x90°
(€) (2n+4)x90° d) 360°

If n is the number of sides of a traverse, while theodolite traversing clockwise
the sum of the included angles should be

(a) (2n-—4)x90° (b) (2n+4) x 90°
(c) (2n+4)x90° ) 360°

(12) et fafts gro aeaw & fagati w1 smeraa fan sman &
(a) wa= frdus (b) AT frguries
© (@ o) 3 @
The Gale method of traversing consists of plotting the points by

(a) independent co-ordinates  (b) consecutive co-ordinates

(c) both (a) and (b) (d) chords
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(13) 5 foreft wren T@wr & Ffig 9 s a0 § S Y Bar B, @ A @ H

e feran sran 2
(a) Temmems fafa (b) TS Ty
(c) wifewfam (d) zifwe fram

When the angular measurements of a traverse are more precise than the linear
measurements, the balancing of a traverse is done by

(a) graphical method (b) theodolite correction
(c) Bowditch rule (d) Transit rule

(14) afe rfigya &1 wrFE 3R f 2 @ Lfew a0 i @ @ e 73 #1 e

fers #m
@ i ® (3)+
© ({)+d @ f+d

If the focal length of the objective is f and stadia interval is i, then the
multiplying constant of the tacheometric will be

@ § ® (3)+i
©) @er @ f+d

(15) e Rfean Rreiemse § amma: @ sifafam fve fra gan g 2
(a) &few g
(b) FeERRTY
(c) &fe T g SeAw A
(d) Il A A B TE
The diaphragm of a stadia theodolite is normally fitted with two additional
(a) horizontal hair
(b) vertical hair

(¢) horizontal and two vertical hair

(d) none of the above
P.T.O.
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(16) Tt § RfEan fafy %1 3w gran 2
(a) &fe o (b) SR H
(c) d&few gt (d) &few T Feaer g
The stadia method in tacheometry is used to determine
(a) horizontal angles (b) vertical angles
(¢) horizontal distances (d) horizontal and vertical distances

(17) w Frardien foredt wametfess g o gan & & dmsfier wd o fRmis o 2
(a) 0,100 (b) 100,0
(¢) 0,0 (d) 100, 100
For a tacheometer equipped with an anallatic lens, the additive and multiplying
constants are respectively

(a) 0,100 (b) 100,0
(¢) 0,0 (d) 100, 100

(18) T TS T 3d-WUE BT B
(a) e, afe T 3f YE % TEEq R |
(b) e, afe T 3fe Y % awqa: wEaq |
(c) weae, A Afera A qEgHgan g |
(d) wear?, afe T firea & I gH g R |
The intercept of a staff
(a) is maximum, if the staff is held normal to the line of sight.
(b) is minimum, if the staff is held truly normal to the line of sight.

(c) decreases, if the staff is tilted away from normal.
(d) decreases, if the staff is tilted towards normal.

(19) & 60 Hiet Sfta & 50 Het s & qarsn o ) neg Fife gnft

(a) 10 (b) 1257

(¢ 157= (d) 18.75

For a chord of 60 m, the mid-ordinate for a circular curve of 50 m radius will be
(a) 10m (b) 125m

(¢) I5m (d 18.75m
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(20) Tt § & 9 91 U T & g % HeY ¥ U JATHR I & HeHes) S @ fafy 2
(a) ftan IeaTE & @EEH (b) Meae @as
(c) TEEq GEH (d) =T H TS e

Which one of the following linear methods of setting out a circular curve needs
reference to the centre of the curve ?

(a) offset from chord produced (b) radial offset

(c) perpendicular offset (d) successive bisection of arcs

(21) U ey gifore @ i ashar e Bt =T
(a) ST ol SETS & SHHATITI!
(b) ST < TS o AT
(c) TN Y =Te % AT
(d) SR & ST

The radius of curvature of an ideal transition curve should be
(a) inversely proportional to its length from the beginning
(b) directly proportional to its length from the beginning
(c) proportional to the speed of the vehicle

(d) proportional to the superelevation

(22) af2 s Wt e 9 $ Brsn R i ], D° sswam @ e it g 20 fi R,

a1 R W& D & e w4 &
5729.6 1718.6
(a) R=T (b) R= D
1145.9 372.9
(c) R= D (d) R=T

If the radius of a simple circular curve is R metre, Degree of curvature is D° and
length of chord is 20 metre, then the relation in between R and D will be

5729.6 1718.6
@ R=F b) R="pH—
1145.9 372.9
() RETH= @ R=7p5"

P.T.O.
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(23) T R B & geffa o 8 et Sften wd vt o v gum 8 A fad o g
(a) 30° (b) 60°
() 120° (d) 150°

The long chord and tangent length of a circular curve of radius R will be equal if
the angle of deflection is

(a) 30° (b) 60°
() 120° (d) 150°

(24) TSt HeHHYT 5 B

(a) =9 TEed (b) =7 EfdA
(c) AU (d) feursft

An ideal transition curve is a

(a) cubic parabola (b) cubic spiral
(c) clothoid (d) Lemniscate

(25) T 1 @+ @1 Brerifidta aaew & Gafa 76 2 2
(a) THHAMRTER |
(b) T H IR FTAR |
(c) ovg e IR TE FRufad 2 |
(d) T H HAYR T B, R T FHraiul guqe § 781 2 |

Which of the following is not a case in trigonometric levelling ?
(a) Base of object is accessible.

(b) Base of object is inaccessible.

(c) Base of object is at accurate position.

(d) Base qf object is inaccessible, station is not in vertical plane.

(26) EDM & gt a1t et 2
(a) @i I (b) a1 H T
(c) =T IR (d)y mm
The distance in EDM is measured by

(a) Frequency of the wave (b) Wavelength
(¢) Phase difference (d) Amplitude
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@Q7) FedasR o wagH R Fasa S smam e ?

(a) SdteE (b) it 3¢ TH

(c) IRTH (d) 3¢ IR TH

Which among the following is used to locate an object ?

(a) GPS (b) GIS

(¢) RS (d) IRS
(28) |O1 H FravaHar gidt &

(a) Weury famm (b) uIH fawm

(c) T wAm (d) ferra am

Tunneling is required in case of

(a) laying pavement (b) laying road

(c) on ground passage (d) underground passage
(29) e RYH H ATl 1 Tuavr foman v 2

(@) Wy (b) TTHE

(c) WTEHISTEE (d) TR ETEa

In total station, data is stored in

(a) Pendrive (b) Data card

(¢) Microprocessor (d) External hardware
(30) e § Fzet Ry &1 ITA B

(a) &fet gt wmom & (b) &fest Hror a9 &

(c) FEH A F (d) I aft

The use of a total station in surveying is

(a) To measure horizontal distance

(b) To measure horizontal angle

(¢) To measure vertical angle

(d) All of the above (1x30)

=10
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2. T = wwemEd
Explain the following :
(i) fesfim
Swinging
(i) wfem &=
Stadia hair
(iii) gifore Fram
Transit rule
(iv) wea i
Mid ordinate
(v) est @fes dshmor o
Ideal horizontal transition curve (2x5)
3. (i) U RuiEiemde % et gureE @ auEd |
Explain the temporary adjustment of a theodolite.
(i) g wE yearady faft & afes seew gr st wre Hif |
Explain the difference between method of repetition and reiteration with the help
of a neat sketch. (5+5)
4. (i) TRV GRI AT @ 3 o ferfiaw |
Write steps of traversing by external angles.
(if) Wi foam e gifire foram & sio Rt | 2ifve Fram grar wren Y 3 Hafera
St & 7
Write the difference between Bowditch and transit rule. How the traverse is
balanced by transit rule ? (5+5)
5. () U wfew g & s w1 am fha wer 3 e s @ 7
How to determine the value of constants of a stadia theodolite ?
(i) afe Rfgan Rrargiemde & wmefes ofa &1 wam 78 fem o @t died fagia =i

SN A § T R IR 7

What problem is faced if anallatic lens is not used in a stadia theodolite to
perform tacheometry ? (5+5)
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6. (i)
(ii)
7
(i1)
8. (i)
(i1)
9. (i)
(ii)

(11 0f12) 319
Fehal =1 @ wshaie & wed, 30 et aee e 7q §9Y, wiiya Hif |

Derive relationship between radius of curvature and degree of curve for 30 metre
standard chain.

a3 Fromed) ) oraaq @ae fafy = awsmed |

Explain the perpendicular offset method for setting out curve. (5+5)

af2 frdt ag-wEs TrE T #§ wrd W fRE fad gia it Far Befid
faftr 20 9 SE B @ B @ B SR s aun fRe yer SEE @ H
St 7

Which method of trigonometric levelling is employed to calculate the height of a
tower on a hill and hilly area is highly undulated ? Also, explain the method to
calculate the height of tower.

AT WA i SRV ! THHE |

Explain the working of a total station. p (5+5)

GO GG H T 3 T ITH 1 A0 HITA |

Explain the equipments used in tunnel surveying.

87 3 i ford o At fafirer WehR & HaRwur Sshi &1 JUi I |

Explain the different types of transition curve which are used in field. (5+5)

g1 gv@w wE fremed i aneed |
Explain the tunnel alignment and setting out of it.

Teitae St Rren # Hrivomed & avi FRR |
Explain the working of global positioning system. (5+5)
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